

12/03/2021

Page 1 of 1

Vendor Ranking

Letting: 04211203

December 03, 2021 10:30

Call Order: 006

Contract:

E4V40

District: District 4

Counties: DIST/ST-WIDE, MARTIN, Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

AM

ST LUCIE

Project(s): 42977457201 (*)

Contract Desc: TREASURE COAST PRIMARY ASPHALT REPAIR - ROUTINE MAINTENANCE

Ra	ank Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	C.W. ROBERTS CONTRACTING, INC.	Responsive	Winning bid	\$492,923.30	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE: END DATE:

12/28/21 01/04/22 **BEGIN TIME:**

10:30 AM

END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$400,000.00 and not the contractors bid total.





Tabulation of Bids

Page 1 of 9

Letting:04211203December 03, 2021Call Order:006Contract:E4V40District:District 4Counties:DIST/ST-WIDE, MARTIN, Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS ST LUCIE Project(s): 42977457201 (*)

Contract Descr: TREASURE COAST PRIMARY ASPHALT REPAIR - ROUTINE MAINTENANCE

The work under this Contract consists of all materials, labor, equipment, and incidentals necessary to perform spot asphalt repair by milling and paving, placing pavement markings and installation of traffic loops on State roads in Martin, St. Lucie, and Indian River Counties.

- MAXIMUM LIMITING CONTRACT: This contract has a budgetary ceiling of \$400,000.00
- Currently only \$200,000.00 of the \$400,000.00 is available. Additional funds will be brought on by Letters of Authorization/Task Work Order (Funding Term 7). The total of all work documents is limited to the budgetary ceiling over the 730 contract calendar days unless amended by Supplemental Agreement.
- The award amount shall be based on the maximum limiting budgeted amount of \$400,000.00
- REQUIRED SUBMITTAL WITH BID: Experience in Asphalt Paving. Work Experience Form 850- 070-01 must be submitted with the bid.
- PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- WORKERS COMPENSATION INSURANCE
- GENERAL LIABILITY

Line No / Item ID Alterna Item Description	te Quantity Units	(1) C.W. R CONTRAC					
() indicates item is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0005 0327 70 1 MILLING EXISTING ASPHALT PAVEMENT, 1" AVG DEPTH	500.000 SY	22.00000	11,000.00				
0010 0327 70 4 MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH	190.000 SY	22.00000	4,180.00				
0015 0327 70 5 MILLING EXISTING ASPHALT PAVEMENT, 2" AVG DEPTH	700.000 SY	22.00000	15,400.00				





Tabulation of Bids

Page 2 of 9

Letting:	04	211203 D	ecember 03,	2021 Ca	II Order: 006		Contract:	E4V40	
	/ Item ID	Alternate	Quantity Units	(1) C.W. R CONTRAC					
() indicat	tes item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION:	0001 (ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0020 03 MILLING EX PAVEMENT			2,375.000 SY	22.00000	52,250.00				
0025 03 MILLING EX PAVEMENT			300.000 SY	22.00000	6,600.00				
		TIC CONC,	200.000 TN	165.00000	33,000.00				
		TIC CONC,	100.000 TN	165.00000	16,500.00				
		TIC CONCRETI	200.000 ≣, TN	200.00000	40,000.00				
ASPHALT (FRICTION 5-5, PG 76-22	200.000 TN	296.00000	59,200.00				
ASPHALT (E FRICTION FC-9.5, PG 76-2	225.000 TN 22	230.00000	51,750.00				
ASPHALT (FRICTION FC-12.5, PG 76	260.000 TN -22	230.00000	59,800.00				
0060 04 MANHOLE,	125 5 , ADJUST		2.000 EA	830.00000	1,660.00				





Tabulation of Bids

Page 3 of 9

Letting:	04211203	December 03,	2021 Ca l	II Order: 006		Contract:	E4V40	
	No / Item ID Alterna Description	te Quantity Units	(1) C.W. R CONTRAC					
() indic	cates item is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
	0425 6 OXES, ADJUST	2.000 EA	400.00000	800.00				
	0660 2101 SSEMBLY- F&I, TYPE A	2.000 AS	1,245.00000	2,490.00				
PAINTED STANDAR	0710 11102 PAVEMENT MARKINGS RD, WHITE, SOLID FOR HANGE AND URBAN ISLA		0.55000	1.10				
PAINTED STANDAR	0710 11123 PAVEMENT MARKINGS RD, WHITE, SOLID FOR /ALK AND ROUNDABOUT	,	0.65000	325.00				
PAINTED STANDAR	0710 11125 PAVEMENT MARKINGS RD, WHITE, SOLID FOR S CROSSWALK, 24"		1.45000	725.00				
PAINTED STANDAR	0710 11141 PAVEMENT MARKINGS RD, WHITE, 2-4 DOTTED NE/ 6-10 DOTTED EXTEN	,	470.00000	940.00				
PAINTED	0710 11160 PAVEMENT MARKINGS RD, WHITE, MESSAGE O		220.00000	5,500.00				





Tabulation of Bids

Page 4 of 9

Letting:	04211203	December 03,	2021 Ca	II Order: 006		Contract:	E4V40	
Line No / Item Descri		nate Quantity Units	(1) C.W. R CONTRAC					
() indicates in	em is bid as Lump S	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
	11170 EMENT MARKINO /HITE, ARROWS	25.000 GS, EA	41.50000	1,037.50				
STANDARD, Y	11224 EMENT MARKINO ELLOW, SOLID F CHEVRON, 18"		0.80000	160.00				
STANDARD, Y	11241 EMENT MARKING ELLOW, 2-4 DOT IO DOTTED EXTE	TED	470.00000	940.00				
	TIC, STANDARD, R CROSSWALK A		2.00000	1,200.00				
	11124 TIC, STANDARD, R DIAGONALS AI		3.20000	1,920.00				
	11125 TIC, STANDARD, R STOP LINE ANI		5.90000	3,540.00				
0130 0711 THERMOPLAS MESSAGE OR	TIC, STANDARD,	50.000 WHITE, EA	266.65000	13,332.50				





Tabulation of Bids

Page 5 of 9

Letting:	04211203	December 03,	2021 Ca l	II Order: 006		Contract:	E4V40	
Line No / I		ate Quantity Units	(1) C.W. R CONTRAC					
() indicates	item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
	11170 STIC, STANDARD, \	50.000 VHITE, EA	83.00000	4,150.00				
0140 0711	11224	200.000	3.25000	650.00				
	STIC, STANDARD, LID, 18" FOR DIAGC N	DNAL LF						
0145 0711	12141	2.000	1,330.00000	2,660.00				
WHITE, 2-4 DO	STIC, REFURBISHM OTTED GUIDELINE ION, 6", MAINTENA	E / 6-10						
THERMOPLAS	12222 STIC, REFURBISHN LID, 8" MAINTENAN		1.10000	1,100.00				
THERMOPLAS YELLOW 2-4 I	12241 STIC, REFURBISHM DOTTED GUIDELINI ION, 6" MAINT USE	E/ 6-10	1,330.00000	2,660.00				
THERMOPLAS	14123 STIC, PREFORMED D, 12" FOR CROSS'		12.00000	1,200.00				
THERMOPLA	14125 STIC, PREFORMED D, 24" FOR CROSS		21.75000	2,175.00				





Tabulation of Bids

Page 6 of 9

Letting:	04211203	December 03,	2021 Cal	l Order: 006		Contract:	E4V40	
Line No / It		te Quantity Units	(1) C.W. R CONTRACT					
	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
THERMOPLAS	15101 STIC, STANDARD-OF HALT SURFACES W		4,925.00000	9,850.00				
THERMOPLAS	15102 STIC, STANDARD-OF HALT SURFACES, V		6,570.00000	13,140.00				
THERMOPLAS GRADED ASP	15131 STIC, STANDARD-OF HALT SURFACES, V SKIP OR 3-9 LANE	VHITE,	1,645.00000	3,290.00				
THERMOPLAS GRADED ASP	15133 STIC, STANDARD-OF HALT SURFACES, V PROACH TO TOLL P DROP	VHITE,	11,260.00000	22,520.00				
THERMOPLAS	15201 STIC, STANDARD-OF HALT SURFACES, LID, 6"	2.000 PEN GM	5,635.00000	11,270.00				
THERMOPLAS	15202 STIC, STANDARD-OF HALT SURFACES LID, 8"	2.000 PEN GM	6,570.00000	13,140.00				
THERMOPLAS	17 1 STIC, REMOVE EXIS STIC PAVEMENT SURFACE TO REMAI		1.70000	1,700.00				





Tabulation of Bids

Page 7 of 9

Letting	j : 0421	1203	December 03,	2021 Ca l	l Order: 006		Contract:	E4V40	
	No / Item ID Description	Alternate	Quantity Units	(1) C.W. R CONTRAC					
() ind	licates item is bid as	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0205 MOBILIZ RESPON	E101 72 ZATION (EMERG NSE)	ENCY	2.000 EA	3,664.00000	7,328.00				
MARKE	E706 1 42 CTIVE PAVEMEN R(REMOVE AND CE)(CLASS B)		800.000 EA	4.75000	3,800.00				
	E710 11121 D PAVEMENT M ARD, WHITE, SO		1,000.000 LF	0.36000	360.00				
	E710 11141 D PAVEMENT M ARD, WHITE, SK		998.900 LF	0.36000	359.60				
	E710 11221 D PAVEMENT M ARD, YELLOW, S	,	998.900 LF	0.36000	359.60				
	E710 11241 D PAVEMENT M ARD, YELLOW, S		1,000.000 LF	0.36000	360.00				
0235 THERMO SOLID, 6	E711 11121 OPLASTIC, STAN 5"	NDARD, WHI	2,000.000 TE, LF	1.10000	2,200.00				
0240 THERMO SKIP, 6"	E711 11141 OPLASTIC, STAN	NDARD, WHI	2,000.000 TE, LF	0.55000	1,100.00				





Tabulation of Bids

Page 8 of 9

Letting:	04211203	December 03,	2021 Ca	II Order: 006		Contract:	E4V40	
	Line No / Item ID Alternate Quantity Item Description Units		(1) C.W. R CONTRAC					
() indicates it	em is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	ΓΙΟΝ: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0245 E711	11221	2,000.000	1.10000	2,200.00				
THERMOPLAS YELLOW, SOL	TIC, STANDARD, D, 6"	LF						
0250 E711	11241	2,000.000	0.55000	1,100.00				
THERMOPLAS YELLOW, SKIP	TIC, STANDARD, , 6"	LF						
0004	ACDUAL T DEDAID	Ozation Tatalan		£402 022 20				

0001 ASPHALT REPAIR Section Totals: (MECHANICAL) (TN) \$492,923.30

Contract Grand Totals:

\$492,923.30



12/03/2021

Tabulation of Bids

Page 9 of 9

Letting: 04211203

December 03, 2021

Call Order: 006

Contract:

E4V40

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.